UElEal=ps

112 SR G ELE R BENHE

— ~ BFRE:113 £ 9 A 19 H(=)9:00-10:00

= NG R EE RREEER B - AR R BRI S B K g R (A
BEETEEL IR - K5 1M1 7 H 14 HEET " BODZSRH RS R g EER
LGl )bl

(—) 12 S EE & BB B > 8Py Ry - 1 SIE3ds ~ 2 RoxRm B
B - 3 HHAE R BT -

(DM =R B —E T

|22 FRHHARRERAEEREG




13 EFEHFREHERERT —NEHLRGITH

HffE M3 44 516 H (E#H—) 4 09:00
Hikh - FERRAE E211

L mRAR

EETE

AR USR 5H&EE USR HUB GHE#r - EaT &S
USR &t&5 e s o O E 202 Al

USR HUB &t a5 T 0/ Bl bl

USR HUB &t skl T 0 AR AR T

USR HUB &t&: & inf e /s 50 G E T

USR HUB & & T2 &/PR B oA




M2 EEEHFTRAEMEEEE _REBHNEE TR
12 BEfE KBS S N HEE TS
HEfE - 112412 7 H (EHU) 4 08:00

L - BRI O ERRE

T - BRI R

NG E YR

Af¢ USR 51281 USR HUB G & #Hii

USR &1 3% Z 8 0 R 2 Al

USR HUB 51&& sk s OV BREE s Al

USR HUB 5t ik s o0/ B R A Al

USR HUB =12 & mEHE 2 /iR5AE EA

USR HUB =12 & :H T2 & /B B i A

ZH—  ARARHEIFIRE T T E(USR)FEHR L HIERE

T REEEARHEEI R g R R
&:";‘TE i — 2= .

e e




M2 FEREHGEIRGZEETY " USR & USR HUB-E ZRE*® |
— ~ B%R9:112 42 12 B 07 H(P/U)18:00-10:00

o MEE AL E R E

= + USR &1 USR HUB stE& L

( JUSR 1&-E By - ol e S R LB £ & A B - E 22T
(Z)USR HUB- S & 48s1E-Ru & AT

(=)USR HUB-#Z [ 8 A= -4 I = i (i - DL ek il
(PU)USR HUB-& Z 2[R A4 5 i 5 EE 3R -EH4E £ A
(1)U

SR HU B-éﬁ}éﬁiﬂﬁ@%ﬁﬁlﬂ&/J \é‘eﬁéﬂﬁﬁﬁi Pk B 5 = Rl




1M1 SEFETITEREE RBAETHLE

- HEE S (LR RRAEIER B » AR R B e B RS & R (T
Fé%”rm/\IVE ERMTET H 14 OHET BRSO E G B EER
ZUEMAEEIIA
(—) 111 SR G =R B EmEE - DRy~ - 1 R - 2 0w~ 3 B




M2 EFEETFREHFELE - RNEHEET TR
M2 BEHEFHREHFSEEFE AL ET TR
BERE 11247 H4 H (EH—) 4 10:00

L B OEEE

T - BRI R

e

FH— | ARKRE G ETE BRI EEETER
FHT  BETAR T BRI KB e R A E R B S
ZH= AR USR 51&=81 USR HUB EHE&E# S s
USR &1 a8 0 2 Al

USR HUB S+ 3@ 302 & 0BRSS w2 BT

USR HUB &332 & b0 EH B 28 S

USR HUB 515 & it 2 /sR oA EE AN

USR HUB & &l T2 %/Bﬁi F@ﬁé%ﬁﬂﬁ







12 FERBHEGRERHRESEY " USR & USR HUB-E—XEF |

— ~ BFfE:112 42 07 A 04 H(—)10:00-12:30

= R AR L ERRE

=~ ARG EER LR NE R G EHUSR 5158 USR HUB STE S
JUSR &t&&-8ig Ry A= - e e & R B B R B S - MR 2Rl

JUSR HUB- St & 45T -7k gA S LRl

JUSR HUB- 52 B A=~ 1 6 = il (1 - DS 57 ke = il

JUSR HUB-& = SC R A 6 2 55 T - HH4R T 2 il

)

(
(=
(=
(
(F)USR HUB-@ﬁﬁ%@%ﬁﬁlﬂ&d\%Eﬂﬁzﬁﬁ‘i-@ ESGES]

S|
il




1M1 EEEFREHIFHERTHEANREGRIRLEG

FIE R ARSI S R AL R EF 4 LAY
PR fE TP EERRET 112 4 3 H 2 H(ZIHPY)_ B4 10 15 10 57

PG R AR TR = E P g3 =E

ERAER R

SHIHRE AR

(IR G BN AR B RN EH

(CMEZEGETE B /M 2R

(EMEZGETE - PR/ SR

(MO)EZGTE - ERVE B A/ RIAEER

—

(f)EZEETE - EEHE R/ EDEERD




